## NOTES ON SUBMANIFOLDS IN A RIEMANNIAN MANIFOLD

## By Kentaro Yano<sup>1)</sup>

#### §1. Introduction.

Many attempts have been done to generalize, to the case of hypersurfaces in a Riemannian manifold, a famous theorem of Liebmann [8] and Süss [14]: The only convex hypersurface with constant mean curvature is a sphere. See for example, Hsiung [1], Katsurada [2], [3], Koyanagi [7], Ōtsuki [13], Tani [15], [21] and the present author [16], [17], [21].

In these papers, the authors prove that, under certain conditions, a closed hypersurface with constant mean curvature is umbilical or pseudo-umbilical.

The present author [17] gave certain conditions under which a closed hypersurface with constant mean curvature be isometric to a sphere.

Also attempts have been recently started to generalize the theorem of Liebmann and Süss to the case of submanifolds in a Riemannian manifold. See for example, Katsurada [4], [5], [6], Kôjyô [5], Nagai [6], [9], Okumura [11], [20], Tani [21] and the present author [18], [20], [21].

Katsurada [4], [5], [6], Kôjyô [5] and Nagai [6], [9] assume the existence of a conformal Killing vector field in the ambient manifold and that this vector field is contained in the linear space spanned by the mean curvature vector of the submanifold and the tangent space to the submanifold.

The present author [18] recently weakened this assumption and obtained similar results to those of Katsurada, Kôjyô and Nagai.

The main purpose of the present paper is to generalize the methods and results in [17] to the case of general submanifolds in a Riemannian manifold admitting a scalar field v such that  $\nabla_j \nabla_i v = f(v)g_{ji}$  and give conditions for a submanifold to be isometric to a sphere.

Similar attempt has been already done by Nagai [9], but he assumes that the vector field  $v^{h} = (\overline{V}_{i}v)g^{ih}$  lies in the linear space spanned by the mean curvature vector and the tangent plane of the submanifold. We study the problem under a condition which is weaker than this.

#### §2. Preliminaries.

Let *M* be an *m*-dimensional orientable Riemannian manifold of differentiability class  $C^{\infty}$  covered by a system of coordinate neighborhoods  $\{U: \xi^h\}$  and  $g_{ji}, \{j^h_i\}$ ,

Received August 2, 1969.

<sup>1)</sup> This work was supported by the National Research Council of Canada.

 $V_i$ ,  $K_{kji}^h$  and  $K_{ji}$ , the metric tensor, the Christoffel symbols formed with  $g_{ji}$ , the operator of covariant differentiation with respect to the Christoffel symbols, the curvature tensor and the Ricci tensor respectively, where and in the sequel the indices  $h, i, j, k, \cdots$  run over the range  $\{1, 2, \cdots, m\}$ .

Let N be an *n*-dimensional compact and orientable manifold of differentiability class  $C^{\infty}$  covered by a system of coordinate neighborhoods  $\{V; \eta^a\}$  and  $C^{\infty}$  differentiably imbedded in M and let

$$(2.1) \qquad \qquad \xi^h = \xi^h(\eta^a)$$

be the local parametric expression of N, where and in the sequel the indices a, b, c, d, e run over the range  $\{1, 2, \dots, n\}$  and 1 < n < m.

If we put

$$B_b{}^h = \partial_b \xi^h, \qquad \partial_b = \partial/\partial \eta^b,$$

then, the Riemannian metric of N induced from that of M is given by

and the Christoffel symbols formed with  $g_{cb}$  by

(2.3) 
$$\{{}^{a}_{c}{}^{b}_{b}\} = (\partial_{c}B_{b}{}^{h} + \{{}^{j}_{h}{}^{i}_{b}\}B_{c}{}^{j}B_{b}){}^{i}B^{a}{}^{h}_{h},$$

where

$$B^a{}_h = B_b{}^i g^{ba} g_{ih},$$

 $g^{ba}$  being the contravariant components of the metric tensor of N. If we put

(2.4) 
$$\nabla_{c}B_{b}^{h} = \partial_{c}B_{b}^{h} + \{j^{h}_{i}\}B_{c}^{j}B_{b}^{i} - \{c^{a}_{b}\}B_{a}^{h},$$

then we see from (2.3) that

(2.5) 
$$g_{ji}(\nabla_c B_b{}^j)B_a{}^i=0,$$

which says that  $V_c B_b{}^h$ , as vectors of M, are orthogonal to the submanifold N. The  $V_c B_b{}^h$  defined by (2.4) is called the *van der Waerden-Bortolotti covariant derivative* of  $B_b{}^h$  along the submanifold N. Thus,

$$H^{h} = \frac{1}{n} g^{cb} \nabla_{c} B_{b}^{h}$$

is an intrinsic vector field of M defined along N and is orthogonal to N.  $H^h$  is called the *mean curvature vector* of N.

We assume that the mean curvature vector  $H^h$  of N never vanishes along N and take the first unit normal  $C^h$  to N in the direction of  $H^h$  and put

$$(2.7) (\nabla_c B_b{}^i)C_i = h_{cb},$$

where  $C_i$  are the covariant components of  $C^h$ . The  $h_{cb}$  are components of the second fundamental tensor of N with respect to the mean curvature unit normal  $C_h$ . We then have

where

$$h_c^a = h_{cb}g^{ba}$$
.

If we denote by  $k_1, k_2, \dots, k_n$  the eigenvalues of  $h_c^a$ , we then have

$$\sum_{a=1}^{n} k_a = h_a{}^a$$

and

$$\sum_{b$$

The scalars  $H_1$  and  $H_2$  defined by

(2.9) 
$$nH_1 = \sum_{a=1}^n k_a = h_a{}^a$$

and

(2.10) 
$$\binom{n}{2}H_2 = \sum_{b$$

are called the first and the second mean curvatures of N with respect to  $C^h$  respectively. We note here that

$$egin{aligned} H_1^2 - H_2 &= rac{1}{n(n-1)} \left( h_b{}^a h_a{}^b - rac{1}{n} h_b{}^b h_a{}^a 
ight) \ &= rac{1}{n^2(n-1)} \sum_{b < a}^{1 \dots n} (k_b - k_a)^2, \end{aligned}$$

and consequently, if

$$H_1^2 - H_2 = 0$$
 or  $h_b^a h_a^b - \frac{1}{n} h_b^b h_a^a = 0$ ,

then

(2.11)

$$k_1 = k_2 = \cdots = k_n = k,$$

that is,

$$h_{cb} = kg_{cb}$$

A submanifold for which  $k_1 = k_2 = \cdots = k_n$  or  $h_{cb} = kg_{cb}$  is said to be *umbilical* with respect to the mean curvature unit normal  $C^h$ , or simply *pseudo-umbilical*.

We now take m-n mutually orthogonal unit normals  $C_x^h$  in such a way that the first normal  $C_{n+1}^h$  coincides with the mean curvature unit normal  $C^h$  and  $B_b^h$ ,  $C_x^h$  form the positive orientation of M, where and in the sequel the indices x, y, ztake the values  $n+1, n+2, \dots, m$ . Then, since  $\nabla_c B_b^h$  are orthogonal to the submanifold N, they can be expressed as

which are equations of Gauss, where

 $h_{cb,n+1}=h_{cb}$ .

To get the equations of Weingarten, we put

Then we have

 $(2.14) \nabla_c C_x^h = -h_c^a {}_x B_a{}^h + l_{cxy} C_y{}^h,$ 

where

 $h_c^a{}_x = h_{cbx}g^{ba}$ 

and

$$l_{cxy} = -l_{cyx}$$

is the *third fundamental tensor* with respect to the normals  $C_x^h$  and defines the connection induced on the normal bundle.

In fact, a vector field  $X^h$  which is defined along N and is normal to N is expressed as

$$X^h = X_x C_x^h$$

and consequently

$$\begin{aligned} \nabla_c X^h = & (\partial_c X_x) C_x^h + X_x (-h_c{}^a{}_x B_a{}^h + l_{cxy} C_y{}^h) \\ = & -h_c{}^a{}_x X_x B_a{}^h + (\partial_c X_x + l_{cyx} X_y) C_x{}^h. \end{aligned}$$

Thus, if we put

$$V \mathcal{V}_c X_x = (\mathcal{V}_c X^i) C_{xi},$$

where  $C_{xi} = C_x^{j} g_{ji}$ , we get

$$(2.15) {}^{\prime} \nabla_c X_x = \partial_c X_x + l_{cyx} X_y.$$

If  $\mathcal{V}_c X^h$  is tangent to N, that is, if  $\mathcal{V}_c X_x = 0$ , we say that  $X^h$  is *parallel* with

respect to the induced connection  $' \overline{\nu}$ .

Now the equations of Gauss, those of Mainardi-Codazzi and those of Ricci-Kühne for N are respectively written as

and

$$K_{kjih}B_d{}^kB_c{}^jC_y{}^iC_x{}^h$$

(2.18)

$$= \nabla_d l_{cyx} - \nabla_c l_{dyx} + h_d{}^a{}_y h_{cax} - h_c{}^a{}_y h_{dax} - l_{dyz} l_{czx} + l_{cyz} l_{dzx}.$$

From (2.17), we have, by transvection with  $g^{cb}$ ,

(2. 19) 
$${}^{\prime}K_{kh}B_{d}{}^{k}C_{x}{}^{h} = \nabla_{d}h_{a}{}^{a}{}_{x} - \nabla_{a}h_{d}{}^{a}{}_{x} + l_{dyx}h_{a}{}^{a}{}_{y} - l_{ayx}h_{d}{}^{a}{}_{y},$$

where

$$K_{kh} = K_{kjih} B^{ji}, \qquad B^{ji} = B_c{}^j B_b{}^i g^{cb}.$$

We notice here that  $'K_{ji}$  is symmetric in j and i, because

$$K_{ji} = K_{jtsi}B^{ts} = K_{sijt}B^{ts} = K_{istj}B^{ts} = K_{ij},$$

B<sup>ts</sup> being symmetric.

# §3. Submanifold of a Riemannian manifold admitting a scalar field v such that $\nabla_j \nabla_i v = f(v)g_{ji}$ .

We now assume that the Riemannian manifold  ${\cal M}$  admits a scalar field v such that

$$(3.1) \qquad \qquad \nabla_{j}\nabla_{i}v = f(v)g_{ji},$$

or

$$V_j v_i = f(v) g_{ji},$$

where  $v_i = \nabla_i v$ . Substituting (3.2) into the Ricci identity

$$\nabla_k \nabla_j v_i - \nabla_j \nabla_k v_i = -K_{kji}{}^h v_h,$$

we find

$$f'(v)v_kg_{ji}-f'(v)v_jg_{ki}=-K_{kji}hv_h,$$

or

(3.3) 
$$K_{kjih}v^{h} = -f'(v)(v_{k}g_{ji} - v_{j}g_{ki}),$$

where  $v^h = v_i g^{ih}$ , from which

(3. 4)  $K_{kjih}C_x^k B^{ji}v^h = -nf'(v)\alpha_x,$  $K_{ii}v^j C_x^i = -nf'(v)\alpha_x,$ 

where  $\alpha_x = v_k C_x^k$ . We put

 $(3.5) v^h = B_a{}^h v^a + C_x{}^h \alpha_x,$ 

where

$$v^a = v_b g^{ba}, \qquad B_b{}^i v_i = \partial_b v.$$

We also put

 $\alpha_{n+1} = \alpha$ .

From

 $\nabla_j v_i = f(v)g_{ji},$ 

we find

 $B_c{}^{j}B_b{}^{i}\overline{V}_{j}v_i = f(v)B_c{}^{j}B_b{}^{i}g_{ji},$ 

or

$$(3.6) \nabla_c v_b = f(v)g_{cb} + h_{cbx}\alpha_x$$

and

 $B_c{}^{\jmath}C_x{}^{i}\nabla_{\jmath}v_i = f(v)B_c{}^{\jmath}C_x{}^{\imath}g_{ji},$ 

or

$$(3.7) \nabla_c \alpha_x = -h_c^a v_a + l_{cxy} \alpha_y.$$

Now, substituting (3.5) into (3.4), we find

$$'K_{ji}(B_a{}^{j}v^a + C_y{}^{j}\alpha_y)C_x{}^{i} = -nf'(v)\alpha_x,$$

or

$$'K_{ji}B_a{}^{j}C_x{}^{i}v^a + 'K_{ji}C_y{}^{j}C_x{}^{i}\alpha_y = -nf'(v)\alpha_x,$$

or, using (2.19),

$$v^{d} \nabla_{d} h_{a}{}^{a}{}_{x} - \nabla_{a} (h_{d}{}^{a}{}_{x}v^{d}) + h_{d}{}^{a}{}_{x} \nabla_{a} v^{d} + l_{dyx} v^{d} h_{a}{}^{a}{}_{y} - l_{ayx} h_{d}{}^{a}{}_{y} v^{d} + 'K_{ji} C_{y}{}^{j} C_{x}{}^{i} \alpha_{y} = -nf'(v) \alpha_{x},$$

that is,

(3.8)  
$$(5.8) + f(v)h_a{}^a{}_x + h_b{}^a{}_xh_a{}^b{}_y\alpha_y + l_{dyx}h_a{}^a{}_yv^d - l_{ayx}h_d{}^a{}_yv^d = 0,$$

by virtue of (3.6).

### §4. Integral formulas for submanifold.

From (3.6), we have

$$g^{cb} \nabla_c v_b = nf(v) + h_a{}^a{}_x \alpha_x,$$

and consequently, integrating over N and applying Green's theorem [19], we find

(4.1) 
$$\int_{N} [nf(v) + h_a{}^a{}_x \alpha_x] dS = 0,$$

dS being the surface element of N.

Also, integrating (3.8) over N and applying Green's theorem, we find that if  $C_x^{i}$  are defined globaly on N, then

$$\int_{N} ['K_{ji}C_{y}C_{x}\alpha_{y}+nf'(v)\alpha_{x}+v^{d}V_{d}h_{a}a_{x}]$$

(4.2)

$$+ f(v)h_{a}{}^{a}{}_{x} + h_{b}{}^{a}{}_{x}h_{a}{}^{b}{}_{y}\alpha_{y} + l_{dyx}h_{a}{}^{a}{}_{y}v^{d} - l_{ayx}h_{d}{}^{a}{}_{y}v^{d}]dS = 0.$$

Now, from

$$\nabla_c B_b{}^h = h_{cbx} C_x{}^h$$
 and  $v^h = B_a{}^h v^a + C_x{}^h \alpha_x$ ,

we find

 $(4.3) (\nabla_c B_b^i) v_i = h_{cbx} \alpha_x,$ 

where

$$h_{cb,n+1} = h_{cb}$$
 and  $\alpha_{n+1} = \alpha$ ,

that is,

(4.4) 
$$(\nabla_c B_b^i) v_i = h_{cb} \alpha + h_{cb, n+2} \alpha_{n+2} + \dots + h_{cb, m} \alpha_m.$$

In the sequel, we assume that

$$(4.5) (\nabla_c B_b{}^i) v_i = \alpha h_{cb},$$

that is,

(4.6)  $h_{cb,n+2}\alpha_{n+2} + \cdots + h_{cb,m}\alpha_m = 0.$ 

(See also Yano [18].) Since  $v^h$  is written as

$$v^{h} = B_{a}^{h} v^{a} + C^{h} \alpha + C_{n+2}^{h} \alpha_{n+2} + \dots + C_{m}^{h} \alpha_{m},$$

the projection of  $v^h$  on the normal plane orthogonal to  $C^h$  is given by

$$C_{n+2}{}^h\alpha_{n+2}+\cdots+C_m{}^h\alpha_m$$

For the covariant derivative of this, we have

$$\begin{aligned} & \mathcal{V}_{c}(C_{n+2}{}^{h}\alpha_{n+2}+\dots+C_{m}{}^{h}\alpha_{m}) \\ = & -(h_{c}{}^{a}{}_{n+2}\alpha_{n+2}+\dots+h_{c}{}^{a}{}_{m}\alpha_{m})B_{a}{}^{h} \\ & +(l_{c,n+2,x}\alpha_{n+2}+\dots+l_{c,m,x}\alpha_{m})C_{x}{}^{h} \\ & +C_{n+2}{}^{h}\mathcal{V}_{c}\alpha_{n+2}+\dots+C_{m}{}^{h}\mathcal{V}_{c}\alpha_{m}. \end{aligned}$$

Thus we see that the assumption (4.5) or (4.6) is equivalent to the fact that

 $\nabla_c(C_{n+2}{}^h\alpha_{n+2}+\cdots+C_m{}^h\alpha_m)$ 

is normal to the submanifold.

As Katsurada, Kôjyô and Nagai [5], [6], [9] assumed, if  $v^h$  has the form

$$(4.7) v^h = B_a{}^h v^a + \alpha C^h,$$

that is, if  $v^h$  is in the space spanned by  $B_a{}^h$  and  $C^h$ , then

 $(4.8) \qquad \qquad \alpha_{n+2} = \cdots = \alpha_m = 0$ 

and (4.6) is satisfied. If

$$(4.9) \nabla_c B_b{}^h = h_{cb} C^h,$$

that is, if  $V_c B_b^h$  are in the direction of mean curvature vector, then

$$(4. 10) h_{cb, n+2} = \cdots = h_{cb, m} = 0$$

and (4.6) is satisfied.

Now, if (4.5) or (4.6) is satisfied, we have

$$(4. 11) h_{cbx}\alpha_x = \alpha h_{cbx}$$

and consequently

$$h_a{}^a{}_x\alpha_x = \alpha h_a{}^a.$$

Thus we have from (4.1)

(4.13) 
$$\int_{N} [nf(v) + \alpha h_a{}^a] dS = 0.$$

Putting x=n+1 in (4.2), we have

$$\int_{N} ['K_{ji}''v^{j}C^{i} + n\alpha f'(v) + v^{d}\nabla_{d}h_{a}^{a}]$$

(4. 14)

$$+f(v)h_{a}^{a}+\alpha h_{b}^{a}h_{a}^{b}+l_{dy}h_{a}^{a}_{y}v^{d}-l_{ay}h_{d}^{a}_{y}v^{d}]dS=0,$$

where

$$v^{j}=C_{x^{j}}\alpha_{x}, \qquad l_{dy}=l_{dy,n+1}.$$

We moreover assume that the mean curvature vector

$$H^{h} = \frac{1}{n} g^{cb} \nabla_{c} B_{b}{}^{h} = \frac{1}{n} h_{a}{}^{a} C^{h}$$

is parallel with respect to the connection  $'\!\!\!\! \nabla$  induced in the normal bundle, that is,

$$\nabla_{c}H^{h} = \frac{1}{n} (\nabla_{c}h_{a}{}^{a})C^{h} + \frac{1}{n}h_{a}{}^{a}(-h_{c}{}^{b}B_{b}{}^{h} - l_{cy}C_{y}{}^{h}) \\
= -\frac{1}{n}h_{a}{}^{a}h_{c}{}^{b}B_{b}{}^{h} + \frac{1}{n} (\nabla_{c}h_{a}{}^{a})C^{h} - \frac{1}{n}h_{a}{}^{a}l_{cy}C_{y}{}^{h}$$

is tangent to the submanifold. Since  $l_{c,n+1}=0$ , we see that this assumption is equivalent to

$$h_a{}^a = \text{const.} \neq 0, \qquad l_{cy} = 0.$$

In this case we have from (4.14)

(4.16) 
$$\int_{N} ['K_{ji}''v^{j}C^{i} + n\alpha f'(v) + f(v)h_{a}{}^{a} + \alpha h_{b}{}^{a}h_{a}{}^{b}]dS = 0.$$

Thus forming  $(4.16) - (4.13) \times (1/n)h_a^a$ , we find

(4. 17) 
$$\int_{N} \left[ {}^{\prime}K_{ji}{}^{\prime\prime}v^{j}C^{i} + n\alpha f^{\prime}(v) + \alpha \left( h_{b}{}^{a}h_{a}{}^{b} - \frac{1}{n} h_{b}{}^{b}h_{a}{}^{a} \right) \right] dS = 0.$$

On the other hand, putting x=n+1 in (3.4), we have

(4.18) 
$$'K_{ji}v^{j}C^{i}+n\alpha f'(v)=0,$$

from which

(4. 19) 
$${}'K_{ji}{}''v^{j}C^{i} + n\alpha f'(v) = -{}'K_{ji}{}'v^{j}C^{i},$$

where

$$v^{j}=B_{c}^{j}v^{c}$$
.

Thus, from (4.17), we have

(4. 20) 
$$\int_{N} \left[ {}^{\prime}K_{ji} {}^{\prime}v^{j}C^{i} - \alpha \left( h_{b}{}^{a}h_{a}{}^{b} - \frac{1}{n} h_{b}{}^{b}h_{a}{}^{a} \right) \right] dS = 0.$$

§5. Theorems.

If

(5.1) 
$$'K_{ji}''v^{j}C^{i}+n\alpha f'(v)=0$$

or

(5.2) 
$$'K_{ji}'v^{j}C^{i}=0,$$

then we have, from (4.17) or (4.20),

(5.3) 
$$\int_{N} \alpha \left( h_b{}^a h_a{}^b - \frac{1}{n} h_b{}^b h_a{}^a \right) dS = 0.$$

Since

$$h_b{}^a h_a{}^b - \frac{1}{n} h_b{}^b h_a{}^a = \frac{1}{n} \sum_{b < a}^{1 \dots n} (k_b - k_a)^2 \ge 0,$$

if  $\alpha = C^i v_i$  has fixed sign on S, then we have from (5.3)

$$h_b{}^a h_a{}^b - \frac{1}{n} h_b{}^b h_a{}^a = 0,$$

that is

$$k_1 = k_2 = \cdots = k_n$$
,

and the submanifold N is pseudo-umbilical. Thus we have

THEOREM 5.1. Let M be an m-dimensional orientable differentiable Riemannian manifold which admits a non-constant scalar field v such that  $\nabla_j \nabla_i v = f(v)g_{ji}$ , f(v)being a differentiable function of v, and N an n-dimensional closed orientable submanifold differentiably imbedded in M such that

(i)  $(\nabla_c B_b{}^i)v_i = \alpha h_{cb} \text{ or } h_{cb, n+2}\alpha_{n+2} + \dots + h_{cb, m}\alpha_m = 0,$ 

(ii) the mean curvature vector  $H^{h} \neq 0$  is parallel with respect to the connection induced on the normal bundle,

(iii)  $'K_{ji}''v^{j}C^{i}+n\alpha f'(v)=0 \text{ or } 'K_{ji}'v^{j}C^{i}=0,$ 

(iv)  $\alpha = C^i \nabla_i v$  has fixed sign on S.

Then N is pseudo-umbilical.

This generalizes Theorem 1 in [17]. If  $v^h$  has the form

$$v^h = B_a{}^h v^a + \alpha C^h$$
,

that is, if

$$\alpha_{n+1} = \cdots = \alpha_m = 0,$$

then

$$v^{h} = \alpha C^{h}$$
,

and consequently (4.17) gives

(5.4) 
$$\int_{N} \alpha \left[ (K_{ji} + nf'(v)g_{ji})C^{j}C^{i} + \left(h_{b}{}^{a}h_{a}{}^{b} - \frac{1}{n}h_{b}{}^{b}h_{a}{}^{a}\right) \right] dS = 0,$$

from which we have

THEOREM 5.2. Let M be a Riemannian manifold as in Theorem 5.1 and Nan n-dimensional closed orientable submanifold differentiably imbedded in M such that

(i)  $\alpha_{n+2} = \cdots = \alpha_m = 0$ ,

(ii) the mean curvature vector  $H^h \neq 0$  is parallel with respect to the connection induced on the normal bundle,

(iii)  $(K_{ii}+nf(v)g_{ji})C^{j}C^{i}\geq 0$ ,

(iv)  $\alpha = C^i \nabla_i v$  has fixed sign on N.

Then N is pseudo-umbilical.

This theorem has been obtained by Nagai [9]. But it seems to the author that the condition  $h_a{}^a = \text{const.}$  in his paper should be replaced by the condition (ii) above, because the assumption  $h_a{}^a = \text{const.}$  only gives no condition on the third fundamental tensor.

If

$$V_c B_b{}^h = h_{cb} C^h$$

that is, if

$$h_{cb, n+2} = \cdots = h_{cb, m} = 0$$

then we have, from (4.14),

(5.5) 
$$\int_{N} ['K_{ji}''v^{j}C^{i} + n\alpha f'(v) + v^{d}\nabla_{d}h_{a}^{a} + f(v)h_{a}^{a} + \alpha h_{b}^{a}h_{a}^{b}]dS = 0,$$

by virtue of

$$l_{d,n+1}=0.$$

Thus, if  $h_a^a = \text{const.}$ , then we have (4.16) and consequently (4.20). Thus

THEOREM 5.3. Let M be a Riemannian manifold as in Theorem 5.1 and N an n-dimensional closed orientable submanifold differentiably imbedded in M such

that

(i)  $h_{cb,n+2} = \cdots = h_{cb,m} = 0$ ,

(ii) the mean curvature vector  $H^{h} \neq 0$  is parallel with respect to the connection induced on the normal bundle,

- (iii)  $'K_{ji}'v^{j}C^{i}=0$ ,
- (iv)  $\alpha = Ci \nabla_i v$  has fixed sign on N.

Then N is pseudo-umbilical.

Now, if the submanifold N satisfies the conditions in Theorem 5. 2 or Theorem 5. 3, then we have, from (3. 6),

$$\nabla_c \nabla_b v = f(v)g_{cb} + \alpha h_{cb}$$

and, from (3.7)

 $\nabla_c \alpha = -h_c^a v_a.$ 

But, N being pseudo-umbilical, we have

 $h_{cb} = \lambda g_{cb},$ 

 $\lambda$  being a constant different from zero. Thus we have

(5. 6)  $\nabla_c \nabla_b v = [f(v) + \lambda \alpha] g_{cb}$ 

and

$$(5.7)  $\nabla_c \alpha = -\lambda \nabla_c v,$$$

from which

$$\alpha = -\lambda v + c$$
,

c being a constant. Thus (5.6) becomes

(5.8)  $\nabla_c \nabla_b v = [f(v) - \lambda^2 v + \lambda c] g_{cb},$ 

and consequently, if

$$f(v) = kv$$
,

k being a constant, we have

(5.9)  $\nabla_c \nabla_b v = [-(\lambda^2 - k)v + \lambda c]g_{cb},$ 

and if

$$f(v)=k$$
,

we have

(5. 10) 
$$\nabla_c \nabla_b v = [-\lambda^2 v + k + \lambda c]g_{cb}.$$

Thus, if  $v \neq \text{constant}$  on N, then as was shown in [16], we have, by a theorem of Obata [10],

THEOREM 5.4. If f(v)=kv, or f(v)=k in Theorem 5.2 or Theorem 5.3, and  $v \neq constant$  on N, then the submanifold N is isometric to a sphere.

#### BIBLIOGRAPHY

- HSIUNG, C. C., Some integral formulas for closed hypersurfaces in a Riemann space. Pacific Journal of Math. 6 (1956), 291-299.
- [2] KATSURADA, Y., Generalized Minkowski formulas for closed hypersurfaces in a Riemann space. Ann. di Mat. 57 (1962), 283-291.
- [3] KATSURADA, Y., On certain property of closed hypersurfaces in an Einstein space. Comm. Math. Helv. 38 (1964), 165-171.
- [4] KATSURADA, Y., Closed submanifolds with constant v-th mean curvature related with a vector field in a Riemannian manifold. J. Fac. Sci., Hokkaido Univ. 21 (1969), 171-181.
- [5] KATSURADA, Y., AND H. KÔJYÔ, Some integral formulas for closed submanifolds in a Riemann space. J. Fac. Sci., Hokkaido Univ. 20 (1968), 90-100.
- [6] KATSURADA, Y., AND T. NAGAI, On some properties of a submanifold with constant mean curvature in a Riemann space. J. Fac. Sci., Hokkaido Univ. 20 (1968), 79-89.
- [7] KOYANAGI, T., On certain property of a closed hypersurface in a Riemann space. J. Fac. Sci., Hokkaido Univ. 20 (1968), 115-121.
- [8] LIEBMANN, H., Über die Verbiegung der geschlossen Flächen positiver Krümmung. Math. Ann. 53 (1900), 91–112.
- [9] NAGAI, T., On certain conditions for a submanifold in a Riemann space to be isometric to a sphere. J. Fac. Sci., Hokkaido Univ. **21** (1969), 135–159.
- [10] OBATA, M., Certain conditions for a Riemannian manifold to be isometric with a sphere. J. Math. Soc. Japan 14 (1962), 333-340.
- [11] OKUMURA, M., Compact orientable submanifolds of codimension 2 in an odd dimensional sphere. Tôhoku Math. J. 20 (1968), 8-20.
- [12] OKUMURA, M., Submanifolds of codimension 2 with certain properties. To appear.
- [13] OTSUKI, T., Integral formulas for hypersurfaces in a Riemannian manifold and their applications. Tôhoku Math. J. 17 (1965), 335-368.
- [14] Süss, W., Zur relativen Differentialgeometrie, V. Tôhoku Math. J. 31 (1929), 201–209.
- [15] TANI, M., On hypersurfaces with constant k-th mean curvature. Kodai Math. Sem. Rep. 20 (1968), 94-102.
- [16] YANO, K., Closed hypersurfaces with constant mean curvature in a Riemannian manifold. J. Math. Soc. Japan 17 (1965), 333-340.
- [17] YANO, K., Notes on hypersurfaces in a Riemannian manifold. Canadian J. of Math. 19 (1967), 439-446.
- [18] YANO, K., Integral formulas for submanifolds and their applications. To appear

in Canadian J. of Math.

- [19] YANO, K., AND S. BOCHNER, Curvature and Betti numbers. Ann. of Math. Studies, No. 32 (1953), Princeton University Press.
- [20] YANO, K., AND M. OKUMURA, Integral formulas for submanifolds of codimension 2 and their applications. Kodai Math. Sem. Rep. 21 (1969), 463-471.
- [21] YANO, K., AND M. TANI, Integral formulas for closed hypersurfaces. Kodai Math. Sem. Rep. 21 (1969), 335–349.

SUMMER RESEARCH INSTITUTE, QUEEN'S UNIVERSITY, KINGSTON, ONTARIO, CANADA.